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BfL. K 4 i B 2E KK =
= S Mg Elk S ¢ F13 3/ 9 33. 61 8f% ( 0.67)
2 )1 Adist N YTy ) ERE 12 2/ 4 34.76 Sk (0.72)
3 ARH i, N YTy ) B H2 2/ 1 35. 06 #% ( 0.68)
4 ik BifE S S C&#hk =P 2/ 8 35.10 7% ( 0.66)
5 BfE B Mgk S ¢ 12 1/ 5 35.53 THk (0.73)
6 HIHR  FIK S S CHEI 13 3/10 35.55 6% ( 0.58)
T A =1 TALT R 3 2/ 3 35.58 65% ( 0.65)
8 mtE M= S S Cmhk 12 2/ 6 35. 61 6% ( 0.86)
9 ik RRHR SR ho 2/ 2 38. 14 5% ( 0.68)
10 & H ASUKA 3 1/ 6 38. 65 3% ( 0.67)
11 JEf B3 7 VHNNT. H2 1/ 3 38.74 5%% ( 0.73)
12 A HFR S S C#k H2 1/ 4 39. 31 4% ( 1.11)
13 /NI E8 S S C [y H12 1/ 7 42.79 2#% ( 0.61)
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B K 4 ir B 2E KK =
1 2 BE3b Mg S C il 3/ 4 30. 47 9%% ( 0.64)
2 RRWE Mk MR E S C &3 3/ 5 30. 49 %% ( 0.61)
3 AR oA VAV i) A =3 3/ 6 30.93 8% ( 0.63)
4 FH OBEH BmHSS =3 3/ 3 31.26 8f% ( 0.62)
5 KH BRHES 2V R &1 3/ 7 31.30 9% ( 0.61)
6 ¥H #hK =) 2 AR 52 3/ 2 31.54 8% ( 0.66)
7 R AR ASUKA =2 3/ 8 32.97 %% ( 0.61)
8 kT KEEA TALT A =l 2/ 5 34.98 6% (0.71)

OPN 7k S IS C 13 3/ 1 33.70 7% ( 0.65)
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